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o / /] RADIAN Rev
ldegree = 1 60 3600 1.745x107%  2.778x107°
Iminute = 1.667x1072 1 60 2.909x10™*  4.630x107°
Isecond = 2.778x107*  1.667x107% 1 4.848x10°°  7.716x1077
IRADIAN = 5730 3438 2.063%x10° 1 0.1592
Irevolution 360 2.16x10* 1.296x10°  6.283 1
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cm Meter Km In. Ft Mi
lcentimeter = 107 107 0.3937 3.281x107% 6.214x107°
1Meter = 100 1 107 39.37 3.281 6.214x107*
IKilometer= 10° 1000 1 3.937x10* 3281 0.6214
linch = 2.540 2.540x10" 2.540x107° 1 8.333x107% 1.578x107°
1foot = 30.48 0.3048 3.048x107* 12 1 1.894x107*
Imile = 1.609x10° 1609 1.609 6.336x10* 5280 1
A lud| Sl g Jagom Jelgs .Y, ¥, Y
METER* cm’ ft? in.?
1SQUARE 1 10* 10.76 1550
METER =
Isquare 107 1 1.076x107° 0.1550
centimeter =
Isquare foot= 9290x1072 929.0 1 144
Isquare inch= " 6.452x10™ 6.452 6.944%107 1
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1CUBIC 1 10° 1000 35.31 6.102x10*
METER =
leubic 10°¢ 1 1.000x107  3.531x107°  6.102x107
centimeter =
Hiter = 1.000x10™ 1000 1 3.531x107% 61.02
lcubic foot= 2832x102  2.832x10* 2832 1 1728
lIcubicinch=" 1639x107°  16.39 1.639x1072  5.787x107* 1
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g Kilogram u 0z b ton
lgram | 0.001 6.022x10° 3.527x107% 2.205x107 1.102x107°
1Kilo- 1000 1 6.022x10° 35.27 2205 1.102x107°
gram
lu 1.661x107%*  1.661x107%7 1 5.857x107%% 3.662x107%7 1.830x107°
1
lounce 28.35 2.835x107% 1.718x10° 1 6.250x107% 3.125x107°
Ipound 4536 0.4536 2.732x10° 16 1 0.0005
Iton 9.072x10°  907.2 5.463x10° 3.2x10* 2000 1
Sl QI g oo Jalgs .7, Y, Y
y d h min SECOND
lyear 1 365.25 8.766x10°  5259x10°  3.156x10’
lday 2.738x107° 1 24 1440 8.640x10*
lhour 1.141x107™*  4.167x107* 1 60 3600
Iminute 1.901x10°°  6.944x10™* 1.667x107% 1 60

1Second 3.169x107% 1.157x107° 2.778x107™* 1.667x107% 1
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cm’
lcentimeter
of mercury*®
at0°C
1PASCAL

Ipound per
in®
Ipound per

ft*

9.869x1077
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9.869x107°
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4.725%107*
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dyne/cm? cmHg  PASCA  Ib/in.? Ib/ft?
L
1.013x10° 76 1.013x10 14.70 2116

1 7.501x107° 0.1 1.405x10" 2.089x107°
1.333x10* 1 1333 0.1934  27.85

10 7.501x107* 1 1.450x10" 2.089x1072
6.895x10* 5.171 6.895x1( 1 144

478.8 47.88 6.944x10 1
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